
[ mi;qZä funsZ'k fgUnh esa vfUre vkoj.kmi;qZä funsZ'k fgUnh esa vfUre vkoj.kmi;qZä funsZ'k fgUnh esa vfUre vkoj.kmi;qZä funsZ'k fgUnh esa vfUre vkoj.k&&&&i`"B ij fn;s x;s gSaAi`"B ij fn;s x;s gSaAi`"B ij fn;s x;s gSaAi`"B ij fn;s x;s gSaA ] [ Total No. of Printed Pages : 28 

Set No. : 1           Question Booklet No. ................................... 

RET/23  970 Livestock Products Technology 

(To be filled up by the candidate by blue/black ball-point pen) 

Roll No.          

Roll No. (Write the digits in words) .............................................................................................. 

Serial No. of OMR Answer Sheet .................................................................................................. 

Centre Code No.     

Day and Date ....................................................  .......................................................... 

        (Signature of Invigilator) 

INSTRUCTIONS TO CANDIDATES 

(Use only blue/black ball-point pen  in the space above and on both sides of the Answer Sheet) 

  1. Within 30 minutes of the issue of the Question Booklet, Please ensure that you have got the correct 

booklet and it contains all the pages in correct sequence and no page/question is missing. In case of 

faulty Question Booklet, bring it to the notice of the Superintendent/Invigilators immediately to 

obtain a fresh Question Booklet. 

  2. A separate Answer Sheet [OMR] is given. It should not be folded or mutilated. A second Answer 

Sheet shall not be provided. 

  3. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided 

above. 

  4. On the front page of the Answer Sheet, write  your Roll Number in the space provided at the top 

(using blue/black ball-point pen), and by darkening the circles at the bottom. Also, wherever 

applicable, write the Question Booklet Number, Centre Code and the Set Number at appropriate 

places. 

  5. No overwriting is allowed in the entries of Roll No., Question Booklet No., Centre Code and Set No. 

(if any) on OMR Answer sheet, and Roll No. and OMR Answer Sheet No. on the Question Booklet. 

  6. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be 

considered as unfair means. 

  7. This Question Booklet contains 100 multiple choice questions (MCQs). For each MCQ, you are to 

record the correct option on the Answer Sheet by darkening the appropriate circle in the 

corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given on the first 

page of the Answer Sheet.  

  8. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle or 

darken a circle partially, the answer will be treated as incorrect. 

  9. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question, 

leave all the blank in the corresponding row (such question will be awarded zero marks). 

10. For rough work, use the inner back pages of the title cover and the blank page at the end of this 

Booklet. 

11. Submit both OMR Answer Sheet and Question Booklet at the end of the Test to the Invigilator 

before leaving the examination hall. 

12. You are not permitted to leave the Examination Hall until the end of the Test. 

13. If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment as 

the University may determine and impose on him/her. 



  

 

For Rough Work/jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, 

    



 

RET/2023/970 ( 3 ) P. T. O. 

970/Livestock Products Technology 

Research Entrance Test - 2023 

No. of Questions : 100 

iz'uksa dh la[;k % iz'uksa dh la[;k % iz'uksa dh la[;k % iz'uksa dh la[;k % 100    

Time    : 3 Hours ]    [ Full Marks : 400 

le; % le; % le; % le; % 3 ?k.Vs ?k.Vs ?k.Vs ?k.Vs ]    [ iw.kk±d % iw.kk±d % iw.kk±d % iw.kk±d % 400    

Note : (i) This Question Booklet contains 100 Objective Questions (MCQs), of which 

50 Objective Questions are based on components of Research Methodology 

and 50 Objective Questions are based on concerned subject. 

   bl ç'u-iqfLrdk esa dqy 100 oLrqfu"B ç'u ¼,e0lh0D;w0½ gSaA ftlesa 50 oLrqfu"B ç'u 

'kks/k çfof/k ds la?kVdksa ij vk/kkfjr gSa vkSj 50 oLrqfu"B ç'u lacaf/kr fo"k; ,oa {ks= ij 

vk/kkfjr gSaA 

  (ii) Attempt as many Questions as you can. Each Question carries 4 (Four) 

marks. Zero mark will be awarded for each unattempted question. There will 

be no negative marking for wrong answer. 

   mrus ç'uksa dks gy djus dk ç;Ru djsa ftruk vki dj ldsaA çR;sd ç'u 4    ¼¼¼¼pkjpkjpkjpkj½½½½ vadksa 

dk gSA çR;sd vuqÙkfjr ç'u dk çkIrkad 'kwU;'kwU;'kwU;'kwU; gksxkA xyr mÙkj ds fy, ____.kkRed vad .kkRed vad .kkRed vad .kkRed vad 

ugha fn;k tk,xkA 

  (iii) If more than one alternative answers of MCQs seem to approximate the 

correct answer, choose the closest one. 

   ;fn oLrqfu"B ç'uksa ds ,d ls vf/kd oSdfYid mÙkj lgh mÙkj ds fudV çrhr gksa] rks 

fudVre lgh mÙkj nsaA 
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1. The marks of 100 students of a class revealed that about 80 students scored 

below 20 marks, 10 students scored between 20 to 80 and remaining scored 

between 80 and 100 marks. Which of the following statements is correct for such 

data ? 

,d d{kk ds 100 Nk=ksa ds vadksa ls irk pyk fd yxHkx 80 Nk=ksa us 20 ls de vad çkIr 
fd,] 10 Nk=ksa us 20 ls 80 ds chp vad çkIr fd, vkSj 'ks"k us 80 ls 100 vad ds chp 
vad çkIr fd,A ,sls vk¡dM+ksa ds fy, fuEufyf[kr esa ls dkSu-lk dFku lghlghlghlgh gS \ 
(1) Mode of the data will be 30 

 vk¡dM+ksa dk cgqyd 30 gksxk  

(2) Skewness of the data will be negative 

 vk¡dM+ksa dk frjNkiu _.kkRed gksxk 
(3) Kurtosis of the data will be equal to 3 

 vk¡dM+ksa dk dqdqnrk 3 ds cjkcj gksxk    

(4) Skewness of the data will be positive 

 vk¡dM+ksa dk frjNkiu /kukRed gksxk 

2. The vertical axis in a graph is known as : 

xzkQ esa Å/okZ/kj v{k dks tkuk tkrk gS % 
(1) Reference Line (2) Abscissa 

 jsQjsUl js[kk  ,fCllk 
(3) Ordinate (4) Double ordinate 

 vkWfMZusV  Mcy vkWfMZusV 

3. Find out the median of the given data set : 11, 12, 14, 16, 16, 10, 18, 19, 9, 20 

fn, x, vk¡dM+k leqPp; dh ekf/;dk Kkr djsa % 11, 12, 14, 16, 16, 10, 18, 19, 9, 20 
(1) 15  (2) 16 (3) 13 (4) 17 

4. The digital repository of theses and dissertations submitted to universities of 

India is known as : 

Hkkjr ds fo'ofo|ky;ksa esa çLrqr 'kks/k çcU/kksa ,oa 'kks/k fuca/kksa ds fMftVy HkaMkj dks tkuk tkrk 
gS % 
(1) Shodhganga (2) Shodhsindhu 

 'kks/kxaxk  'kks/kfla/kq 
(3) Shodhgangotri (4) Vidwan 

  'kks/kxaxks=h  fo}ku 
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5. Which among the following pair is not correct ? 

fuEufyf[kr esa ls dkSu-lk ;qXe lgh ughaughaughaugha  gS \ 
(1) Regression – Galton (2) Correlation coefficient – Pearson 

 çfrxeu – xSYVu  lglaca/k xq.kkad – fi;lZu 
(3) ANOVA – Fisher (4) PCA – Gauss 

 ,uksok – fQ'kj  ihlh, – xkWl 

6. The checklist used to improve transparency in systematic reviews is : 

O;ofLFkr leh{kkvkas esa ikjnf'kZrk dks csgrj cukus ds fy, mi;ksx dh tkus okyh psdfyLV gS % 
(1) META (2) COHEART  

 ,e b Vh ,  lh vks ,p b , vkj Vh 
(3) PRISMA (4) MAXIME 

 ih vkj vkb ,l ,e ,  ,e , ,Dl vkb ,e b 

7. The measurement scale with an absolute zero is : 

fujis{k 'kwU; okyh ekiuh gS % 
(1) Ratio Scale (2) Interval Scale 

 vuqikr ekiuh  varjky ekiuh 
(3) Ordinal Scale (4) Nominal Scale 

 Øfed ekiuh  ukfer ekiuh 

8. Among the following sampling methods, which one falls under the probability 

method ? 

fuEufyf[kr çfrp;u fof/k;ksa esa ls dkSu-lk laHkkO;rk fof/k ds varxZr vkrk gS \ 
(1) Judgement sampling (2) Quota sampling 

 fu.kZ; çfrp;u  dksVk çfrp;u 
(3) Cluster sampling (4) Convenience sampling 

 xqPN çfrp;u  lqfo/kk çfrp;u 

9. The number of possible samples of size 2 out of a population with size 5 using 

simple random sampling with replacement is : 

çfrLFkkiu ds lkFk ljy ;kn`fPNd çfrp;u dk mi;ksx djds vkdkj 5 okyh tula[;k esa ls 
vkdkj 2 ds leLr laHkkfor çfrn'kks± dh la[;k gS % 
(1) 25  (2) 20 (3) 10 (4) 12 
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10. The sampling method generally used for gathering information on rare events   

is : 

nqyZHk ?kVukvksa ij tkudkjh ,d= djus ds fy, lkekU;r;k çfrp;u fof/k dk mi;ksx fd;k 
tkrk gS % 
(1) Simple random sampling (2) Stratified random sampling 

 ljy ;kn`fPNd çfrp;u  LrjhÑr ;kn`fPNd çfrp;u 
(3) Snowball sampling (4) Systematic sampling 
 O;kid ¼LuksckWy½ çfrp;u  Øfed çfrp;u 

11. Match the given study designs in Column-I with Column-II and choose correct 

option : 

LrEHkLrEHkLrEHkLrEHk-I esa fn;s x;s v/;;u vfHkdYiksa dks LrEHkLrEHkLrEHkLrEHk -II ls feyk;sa vkSj lghlghlghlgh fodYi pqus % 
 Column-I 

LraHkLraHkLraHkLraHk-I 
 Column-II 

LraHkLraHkLraHkLraHk-II 
A. Cross-sectional 

ØkWl lsD'kuy 
(i) Data comes in future. 

vk¡dM+s Hkfo"; esa feyrs gSaA 
B. Case control 

dsl dUVªksy 
(ii) Data comes at present. 

vk¡dM+s orZeku esa feyrs gSaA 
C. Cohort 

dksgkVZ 
(iii) Data comes from past. 

vk¡dM+s iwoZ ls feyrs gSaA 
Code : 

ddddwVwVwVwV    %%%%    
(1) A-(ii),   B-(iii),   C-(i) (2) A-(ii),   B-(i),   C-(iii) 

(3) A-(iii),   B-(ii),   C-(i) (4) A-(i),   B-(ii),   C-(iii) 

12. What is full form of USB as used in computer related activities ? 

dEI;wVj ls lacaf/kr xfrfof/k;ksa esa mi;ksx gksus okys USB dk iw.kZ :i D;k gS \ 
(1) United Serial Bus (2) Ultra Security Bus 

 ;wukbVsM lhfj;y cl  vYVªk flD;ksfjVh cl 
(3) Universal Security Bus (4) Universal Serial Bus 

 ;wfuolZy flD;ksfjVh cl  ;wfuolZy lhfj;y cl 
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13. Which among the following can be used as post hoc test for means ? 

fuEufyf[kr esa ls dkSu ek/;ksa ds fy, iksLV-gkWd ijh{k.k dk mnkgj.k gS \ 
(1) Run test 

 ju ijh{k.k 
(2) One Sample t&test 

 ,d çfrn'kZ t&ijh{k.k 
(3) Chi Square test for goodness of fit 

 xqMusl vkWQ fQV ds fy, dkbZ oxZ ijh{k.k 
(4) Independent t-test 
 Lora= t&ijh{k.k 

14. Which among the following is a referencing software ? 

fuEufyf[kr esa ls dkSu-lk ,d jsQjsaflax lkW¶Vos;j gS \ 
(1) Canva (2) PubMED  

 dsUok   icesM 

(3) EndNote (4) Sci-Hub 

 bUMuksV  lkb&gc 

15. Which among the following is not an example of plagiarism detection software ? 

fuEufyf[kr esa ls dkSu lkfgfR;d pksjh dk irk yxkus okys lkW¶Vos;j dk mnkgj.k ughaughaughaugha gS \ 
(1) Mendeley (2) Drillbit 

 esaMys   fMªyfcV 

(3) Urkund (4) Turnitin 

 mjdqaM  VfuZfVu 

16. The principle of experimental design which helps in minimizing the bias is : 

çk;ksfxd vfHkdYi fl)kar tks vfHkufr dks U;wure djus esa enn djrk gS % 
(1) Replication (2) Randomization 

 çfrÑfr  ;kn`fPNdhdj.k 
(3) Local Control (4) Replication and Randomization 

 LFkkuh; fu;a=.k  çfrÑfr vkSj ;kn`fPNdhdj.k 

17. The minimum number of levels in an experimental design should be : 

,d çk;ksfxd vfHkdYi esa Lrjksa dh U;wure la[;k gksuh pkfg, % 
(1) One (2) Two (3) Three (4) Zero 

 ,d   nks  rhu  'kwU; 
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18. Which of the following experimental design is preferred when one of the factors 

needs more experiment material than the second factor ? 

tc fdlh ,d dkjd dks nwljs dkjd dh rqyuk esa vf/kd ç;ksx lkexzh dh vko';drk gksrh 
gS] rks fuEufyf[kr esa ls fdl ç;ksxkRed vfHkdYi dks çkFkfedrk nh tkrh gS \ 

(1) Latin Square Design (2) Lattice Design 

 ySfVu oxZ vfHkdYi  ySfVl vfHkdYi 

(3) Split plot (4) Strip plot 

 fLIyV IykWV  fLVªi IykWV 

19. The type of ANOVA employed in analysis of Completely Randomized Design 

is : 

lEiw.kZ ;kn`fPNd vfHkdYi ds fo'ys"k.k esa ç;qDr ,uksok dk çdkj gS % 

(1) One way (2) Two way without replication 

 ,drjQk  çfrÑfr ds fcuk nksrjQk 

(3) Two way with replication (4) Three way 

 çfrÑfr ds lkFk nksrjQk  rhurjQk 

20. Which of the following is susceptible with research ethics ? 

fuEufyf[kr esa ls dkSu vuqla/kku uSfrdrk ds çfr vfr-laosnu'khy gS \ 

(1) Reporting of research findings 

 'kks/k fu"d"kks± dh fjiksfV±x 

(2) Inaccurate application of analysis techniques 

 fo'ys"k.k rduhdksa dk xyr vuqç;ksx 

(3) Choice of sampling technique 

 çfrp;u rduhd dk p;u 

(4) Faulty research design 

 nks"kiw.kZ 'kks/k fMt+kbu 
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21. In finalizing the thesis writing format which of the following would form part of 

supplementary pages ? 

Fkhfll ys[ku çk:i dks vafre :i nsus esa fuEufyf[kr esa ls dkSu-lk iwjd i`"Bksa dk fgLlk 
gksxk \ 

(1) Appendices (2) List of tables and figures 

 ifjf'k"V  rkfydkvksa vkSj vk¡dM+ksa dh lwph 

(3) Table of contents (4) Conclusion of the study 

 fo"k;&lwph  v/;;u dk fu"d"kZ 

22. The mean of the standard normal distribution is : 

ekud çlkekU; caVu dk ek/; gS % 

(1) Zero (2) One (3) Infinity (4) Fifty 

 'kwU;   ,d  vuar  ipkl 

23. In Harvard style of referencing for a book, which among the following comes in 

the last ? 

fdlh iqLrd dks gkoZMZ 'kSyh esa lanfHkZr djus ds fy, fuEufyf[kr esa ls dkSu-lk vUr esa vkrk 
gS \ 
(1) Book title (2) Year of Publication 

 iqLrd dk 'kh"kZd  çdk'ku dk o"kZ 
(3) Place of Publication (4) Publisher 

 çdk'ku dk LFkku  çdk'kd 

24. Which of the following educational program is not govern by IGNOU ? 

fuEu esa ls dkSu-lk 'kSf{kd dk;ZØe IGNOU }kjk lapkfyr ughaughaughaugha gS \ 
(1) Gyan Darshan (2) Gyanvani (3) Swayam (4) e-Kosh 

 Kku n'kZu  Kkuok.kh  Lo;e~  bZ-dks"k 

25. The word research is derived from the French word : 

fjlpZ 'kCn] Ýsap 'kCn ls cuk gS % 
(1) Recherche (2) Reserch (3) Ricirch (4) Resorce 

 jhpspsZ   fjlpZ   fjfdpZ   fjlkslZ  
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26. Which among the following is an example of open-source data analysis   

software ? 

fuEufyf[kr esa ls dkSu-lk vksiu&lkslZ vk¡dM+k fo'ys"k.k lkW¶Vos;j dk ,d mnkgj.k gS \ 

(1) SPSS (2) JASP  

 ,l0 ih0 ,l0 ,l0  ts0 ,0 ,l0 ih0 

(3) Graphpad Prism (4) SAS 

 xzkQiSM fçTe  ,l0 ,0 ,l0 

27. What are the conditions in which Type-II error occurs ? 

os dkSu-lh fLFkfr;k¡ gSa ftuesa Vkbi-II =qfV mRiUu gksrh gS \ 
(1) The null hypothesis gets accepted even if it is false. 

 'kwU; ifjdYiuk vlR; gksus ij Hkh LohÑr gks tkrh gSA 
(2) The null hypothesis gets rejected even if it is true. 

 'kwU; ifjdYiuk lR; gksus ij Hkh vLohÑr gks tkrh gSA 
(3) Both the null hypothesis as well as alternative hypothesis are rejected. 

 'kwU; ifjdYiuk vkSj oSdfYid ifjdYiuk nksuksa vLohdkj dh tkrh gSaA 
(4) The null hypothesis gets accepted even if it is true. 

 'kwU; ifjdYiuk lR; gksus ij Hkh LohÑr gks tkrh gSA 

28. Following are some steps used in research. Choose the appropriate sequence of 

steps in completion of research work : 

'kks/k esa mi;ksx fd, tkus okys dqN pj.k fuEufyf[kr gSaA 'kks/k dk;Z dks iwjk djus ds fy, 
pj.kksa dk mfpr Øe pqusa % 
(i) Literature survey (ii) Developing hypothesis 
 lkfgR; losZ{k.k  ifjdYiuk dk fodkl djuk 
(iii) Preparation of research design (iv) Sampling plan 
 vuqla/kku vfHkdYi rS;kj   djuk çfrn'kZ ;kstuk 
(v) Hypothesis testing 

 ifjdYiuk ijh{k.k  
(1) (i), (iii), (iv), (ii), (v) (2) (i), (iv), (iii), (ii), (v) 

(3) (i), (ii), (iii), (iv), (v) (4) (i), (iv), (iii), (ii), (v) 
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29. When the person lifts material that they have previously published and passes it 

off as their own new work is known as : 

tc dksbZ O;fDr viuh igys ls çdkf'kr dh xbZ lkexzh dks ysrk gS vkSj mls vius u, dk;Z 
ds :i esa çLrqr djrk gS] rks bls dgk tkrk gS % 
(1) Mosaic Plagiarism 

 ekst+sd lkfgfR;d pksjh 
(2) Accidental Plagiarism 

 vkdfLed lkfgfR;d pksjh 
(3) Self-Plagiarism 

 Lo&lkfgfR;d pksjh 
(4) Minimal Plagiarism 

 U;wure lkfgfR;d pksjh 

30. Match the Column-I with Column-II and choose correct option : 

LrEHkLrEHkLrEHkLrEHk -I dks LrEHkLrEHkLrEHkLrEHk -II ls feyk;sa vkSj lghlghlghlgh fodYi pqus % 

 Column-I 

LraHkLraHkLraHkLraHk-I 
 Column-II 

LraHkLraHkLraHkLraHk-II 
A. Explanatory research 

O;k[;kRed vuqla/kku 
(i) Understanding causes and consequences of 

phenomenon 

?kVuk ds dkj.kksa vkSj ifj.kkeksa dks le>uk 
B. Descriptive research 

o.kZukRed vuqla/kku 
(ii) Discover new phenomenon 

ubZ ?kVuk dh [kkst 
C. Exploratory research 

[kkstiw.kZ vuqla/kku 
(iii) Describing existing phenomenon 

ekStwnk ?kVuk dk o.kZu 

Code : 

dwV %dwV %dwV %dwV %    
(1) A-(ii),   B-(iii), C-(i) 

(2) A-(i),   B-(iii),   C-(ii) 

(3) A-(ii),   B-(i),   C-(iii) 

(4) A-(iii),   B-(ii),   C-(i) 
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31. Which of the following is not an appropriate tool for data analysis ? 

fuEufyf[kr esa ls dkSu-lk MkVk fo'ys"k.k ds fy, mi;qDr midj.k ughaughaughaugha gS \ 
(i) SPSS (ii) MS-Excel 

 ,l0 ih0 ,l0 ,l  ,e0,l0-,Dlsy 
(iii) R  (iv) Python 

 vkj   ik;Fku 
(v) Windows 

 foUMkst 
Code : 

dwV %dwV %dwV %dwV %    
(1) Only (ii) (2) (ii) and (iii) (3) (ii) and (iv) (4) Only (v) 

 dsoy (ii)  (ii) vkSj (iii)  (ii) vkSj (iv)  dsoy (v) 

32. In an experiment conducted on goats, the following were measured on each 

animal in the study : Sex, weight (in kg) and birth order. The scale of 

measurement of these variables are : 

cdfj;ksa ij fd, x, ,d ç;ksx esa] v/;;u esa çR;sd tkuoj ij fuEufyf[kr dks ekik x;k % 
fyax] otu ¼fdxzk0 esa½ vkSj tUe ØeA bu pjksa ds ekiu esa ç;qDr ekifu;k¡ gSa % 
(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio 

 ukfer] vuqikr] Øfed  Øfed] vuqikr] vuqikr 

(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal 

 Øfed] vuqikr] vUrjky  ukfer] ukfer] Øfed 

33. Which among the following is not an example of primary data ? 

fuEufyf[kr esa ls dkSu-lk çkFkfed vk¡dM+s dk mnkgj.k ughaughaughaugha  gS \ 
(1) Data collected through surveys  

 losZ{k.k ds ek/;e ls ,df=r vk¡dM+s 
(2) Data collected through interviews 

 lk{kkRdkj ds ek/;e ls ,df=r vk¡dM+s 
(3) Data collected from experiments 

 ç;ksxksa ls ,df=r vk¡dM+s 
(4) Data collected from national census reports 

 jk"Vªh; tux.kuk çfrosnu ls ,df=r vk¡dM+s 
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34. Kurtosis of a standard normal distribution is : 

,d ekud çlkekU; forj.k dh dqdqnrk gS % 
(1) Zero (2) Three (3) Two (4) One  

 'kwU;   rhu  nks  ,d 

35. A subset that is chosen from population is known as : 

,d mileqPp; ftls ,d tula[;k esa ls pquk tkrk gS] dgykrk gS % 
(1) Parameter (2) Variable (3) Sample (4) Statistic 

 çkpy  pj  çfrn'kZ  len'kZ 

36. Which of the following is not applied in research involving qualitative    

variables ? 

fuEufyf[kr esa ls dkSu xq.kkRed pjksa dks fufgr djus okys vuqla/kku esa ç;qDr ughaughaughaugha gksrk gS \ 
(1) Proportion (2) Diagram (3) Odds ratio (4) Mean 

 vuqikr  vkjs[k  fo"ke vuqikr  ek/; 

37. Read the following statements and choose true statement(s) : 

fuEufyf[kr dFkuksa dks i<+sa vkSj lR;lR;lR;lR; dFku pqusa % 
(a) Independent variables are unknown variables. 

 Lora= pj vKkr pj gSaA 
(b) Dependent variables are unknown variables. 

 vkfJr pj vKkr pj gSaA 
(c) Research decisions are made on dependent variables. 

 vuqla/kku fu.kZ; vkfJr pj ij fd, tkrs gSaA 
Code : 

dwV %dwV %dwV %dwV %    
(1) Only (a) (2) (a) and (b) (3) (b) and (c) (4) (a) and (c) 

 dsoy (a)  (a) vkSj (b)  (b) vkSj (c)  (a) vkSj (c) 

38. The sampling method in which after random start, every 'kth' individual is 

selecting from the population list is known as : 

,d ;kn`fPNd vkjaHk ds mijkar tula[;k lwph ds çR;sd ^kok¡* O;fDr dks p;fur djus okyh 
çfrp;u fof/k gS % 
(1) Simple random sampling (2) Systematic sampling 

 lkekU; ;kn`fPNd çfrp;u  Øec) çfrp;u 
(3) Stratified sampling (4) Cluster sampling 

 LrjhÑr çfrp;u   xqPN çfrp;u 
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39. In stratified random sampling, how the strata within the population are decided ? 

LrjhÑr ;kn`fPNd çfrp;u esa tula[;k ds Lrjksa dk fu/kkZj.k dSls fd;k tkrk gS \ 
(1) Randomly 

 ;kn`fPNd :i ls 
(2) Based on specific characteristics of population 
 tula[;k ds fof'k"V fo'ks"krkvksa ij vk/kkfjr 
(3) Using a pre-defined pattern 

 iwoZ&fu/kkZfjr iSVuZ dk mi;ksx djds 
(4) Using geographical proximity 

 HkkSxksfyd lehirk ds vk/kkj ij 

40. A longitudinal research design is : 

,d vuqnS?;Z vuqla/kku vfHkdYi gS % 
(1) Studying multiple groups simultaneously 

 dbZ lewgksa dk ledkfyd v/;;u 
(2) Collecting data at a single point in time 
 ,d gh le; ij vk¡dM+ksa dk laxzg.k 
(3) Observing participants over an extended period of time 

 ,d foLrkfjr le;kof/k rd çfrHkkfx;ksa dk çs{k.k  
(4) Analyzing historical data 

 ,sfrgkfld vk¡dM+ksa dk fo'ys"k.k djuk 

41. Which research design investigates the cause and effect relationship between 

variables ? 

dkSu-lk vuqla/kku vfHkdYi pjksa ds chp çHkko&dkj.k lEcU/k dh tk¡p djrk gS \ 
(1) Descriptive design 
 o.kZukRed vfHkdYi 

(2) Correlational design 

 lglEcU/kkRed vfHkdYi 
(3) Experimental design 

 ç;ksxkRed vfHkdYi 
(4) Case-study design 

 dsl&v/;;u vfHkdYi 
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42. Which of the following is not a primary purpose of a literature review in research ? 

fuEu esa ls dkSu lkfgR; leh{kk dk eq[; mn~ns'; ughaughaughaugha  gS \ 
(1) To summarize the researcher's findings 

 'kks/kdrkZvksa ds urhtksa dk laf{kIrhdj.k 
(2) To provide a historical background of the topic 
 fo"k; dk ,sfrgkfld i`"BHkwfe çnku djuk 
(3) To identify gaps and justify the need for the study 

 vUrjkyksa dh igpku djuk vkSj v/;;u dh vko';drk dks mfpr Bgjkuk 
(4) To present statistical analysis of the data 

 vk¡dM+ksa dk lkaf[;dh; fo'ys"k.k çLrqr djuk 

43. Which statistical measure describes the central tendency of a data set ? 

dkSu-lk lkaf[;dh; ekiu vk¡dM+ksa ds leqPp; dh dsUæh; ço`fÙk dk o.kZu djrk gS \ 
(1) Standard Deviation (2)  Range (3) Mean (4) Variance 
 ekud fopyu         çlkj  ek/;  çlj.k 

44. What does a p-value in statistical analysis indicate ? 

lkaaf[;dh; fo'ys"k.k esa p-eku D;k bafxr djrk gS \ 
(1) The size of the data set  

 vk¡dM+ksa ds leqPp; dk vkdkj 
(2) The probability of obtaining results by chance under null hypothesis 
 'kwU; ifjdYiuk ds vUrxZr urhtksa dks vkdfLed :i ls çkIr djus dh lEHkkouk 
(3) The mean of the data set 

 vk¡dM+ksa ds leqPp; dk ek/; 

(4) The variance within the data set 

 vk¡dM+ksa ds leqPp; dk çlj.k 

45. What does the term 'outlier' refer to in data analysis ? 

vk¡dM+ksa ds fo'ys"k.k esa ^cfgjLFk çnÙk* 'kCn dk D;k vFkZ gS \ 
(1) A data point that lies within the expected range 

 ,d vk¡dM+k fcUnq tks visf{kr lhek esa gksrk gS 
(2) A data point that does not fit the overall pattern of the data 
 ,d vk¡dM+k fcUnq tks vk¡dM+ksa ds lexz iSVuZ esa fQV ugha gksrk gS 
(3) The average value of a data set 

 vk¡dM+k leqPp; dk vkSlr eku 

(4) The data point that lies between the first and third quartile 

 vk¡dM+k leqPp; esa igys vkSj rhljs prqFkZd ds chp dk eku  
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Instructions (Q. No. 46 & 47 ) : Review the monthly website traffic data for site xyz in 

the year 2023 provided in the data below. Choose the correct answer for each question 

given below : 

funsZ'k funsZ'k funsZ'k funsZ'k (iz0 la0iz0 la0iz0 la0iz0 la0 46 rFkkrFkkrFkkrFkk 47) %%%%    Ñi;k uhps fn, x, o"kZ 2023 eas lkbV xyz ds ekfld osclkbV 
;krk;kr vk¡dM+ksa dh leh{kk djsaA uhps fn, x, çR;sd ç'u ds fy, lghlghlghlgh mÙkj pqusa %        

Monthly Website Traffic data for the Site xyz (Year-2023) 

xyz lkbV ds fy, ekfld osclkbV ;krk;kr vk¡dM+k ¼o"kZ-2023½ 
Month 

eghukeghukeghukeghuk 
Visitors 

n'kZdn'kZdn'kZdn'kZd    

January / tuojh 3,50,000 

February / Qjojh 3,80,000 

March  / ekpZ 3,00,000 

April / vçSy 4,20,000 

May / ebZ 4,00,000 

June / twu 4,50,000 

July / tqykbZ 4,30,000 

August / vxLr 4,70,000 

September / flrEcj 3,80,000 

October / vDVwcj 4,10,000 

November / uoEcj 4,80,000 

December / fnlEcj 5,00,000 
 

46. The average monthly visitors (rounded) for site xyz in 2023 is : 

lkbV xyz ds fy, lky 2023 esa ekfld vkSlr n'kZd ¼iw.kk±fdr½ fdrus Fks \ 

(1) 414165 (2) 414167 (3) 414168 (4) 414160 

47. What was the percentage (rounded to zero) decrease in visitors from April to 

May ? 

vçSy ls ebZ rd] n'kZdksa esa çfr'kr ¼'kwU; ij iw.kk±fdr½ deh fdruh gS \ 

(1) 8%  (2) 5% (3) 10% (4) 15% 
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48. The pie diagram given below, shows monthly expenditure of the two families A 

and B on various items along with raw data of expenditure as mentioned in the 

legend. What will be the ratios of radii of circle A to B in construc

diagram ? 

uhps fn;k x;k ikbZ vkjs[k] O;; ds ewy vk¡dM+s ds lkFk fofHkUu enksa ij nks ifjokjksa 
B ds ekfld O;; dks n'kkZrk gSA ikbZ vkjs[k ds fuekZ.k esa o`Ùk 
vuqikr D;k gksxk \ 
(1) 9 : 10 

Instructions (Q. No. 49 & 50) :

vehicles by two companies A and B during the year 2015 to 2020. Choose the 

answer for each question given below :

funsZ'k funsZ'k funsZ'k funsZ'k (iz0 la0iz0 la0iz0 la0iz0 la0 49 rFkkrFkkrFkkrFkk 50) 

daifu;ksa A vkSj B }kjk fufeZr okguksa dks n'kkZrk gS] dh leh{kk dhft,A uhps fn;s x;s izR;sd iz'u ds 
fy, lghlghlghlgh mÙkj pqfu,A 
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The pie diagram given below, shows monthly expenditure of the two families A 

and B on various items along with raw data of expenditure as mentioned in the 

legend. What will be the ratios of radii of circle A to B in construc

uhps fn;k x;k ikbZ vkjs[k] O;; ds ewy vk¡dM+s ds lkFk fofHkUu enksa ij nks ifjokjksa 
ds ekfld O;; dks n'kkZrk gSA ikbZ vkjs[k ds fuekZ.k esa o`Ùk A 

(2) 100 : 81 (3) 10 : 9 

49 & 50) : Review the given figure which shows the manufactured 

vehicles by two companies A and B during the year 2015 to 2020. Choose the 

answer for each question given below : 

50) %%%% d`i;k uhps fn, x;s xzkQ tksfd o"kZ 2015 
}kjk fufeZr okguksa dks n'kkZrk gS] dh leh{kk dhft,A uhps fn;s x;s izR;sd iz'u ds 

 

P.T.O. 

The pie diagram given below, shows monthly expenditure of the two families A 

and B on various items along with raw data of expenditure as mentioned in the 

legend. What will be the ratios of radii of circle A to B in constructing the pie 

uhps fn;k x;k ikbZ vkjs[k] O;; ds ewy vk¡dM+s ds lkFk fofHkUu enksa ij nks ifjokjksa A vkSj 
 ls B dh f=T;kvksa dk 

(4) 1 : 1 

 
Review the given figure which shows the manufactured 

vehicles by two companies A and B during the year 2015 to 2020. Choose the correct 

 ls 2020 ds nkSjku nks 
}kjk fufeZr okguksa dks n'kkZrk gS] dh leh{kk dhft,A uhps fn;s x;s izR;sd iz'u ds 
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49. Difference between the average vehicles manufactured by the companies during 

the year 2015 to 2020 is : 

o"kZ 2015 ls 2020 ds nkSjku dEifu;ksa }kjk fufeZr okguksa ds vkSlr dk varj gS % 

(1) 205.5 (2) 105.0 

(3) 103.5 (4) 107.5 

50. If 1G  and 2G  denote growth rates of Companies A and B from 2015 to 2020 

respectively, then which of the following is true ? 

;fn 1G  vkSj 2G  Øe'k% 2015 ls 2020 rd dEifu;ksa A vkSj B dh o`f) nj dks n'kkZrs gSa] 
rks fuEufyf[kr esa ls dkSu-lk lR;lR;lR;lR; gS \ 
(1) G

2
 > G

1
 (2) G

2
 < G

1 

(3) G
2
 ≥ G

1
 (4) G

2
 ≤ G

1
 

   
 

 

2015    ls ls ls ls 2020    ds nkSjku daiuh ds nkSjku daiuh ds nkSjku daiuh ds nkSjku daiuh A    vkSj vkSj vkSj vkSj B    }}}}kjkkjkkjkkjk    
fufeZr okgukas dh la[;kfufeZr okgukas dh la[;kfufeZr okgukas dh la[;kfufeZr okgukas dh la[;k    

fufeZr okguksa dh la[;kfufeZr okguksa dh la[;kfufeZr okguksa dh la[;kfufeZr okguksa dh la[;k    
vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh A    
vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh B    

o"kZo"kZo"kZo"kZ    
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Livestock Products Technology Code No : 970 

51. Marbling of fat is absent in : 

(1) Beef (2) Chevon   

(3) Mutton (4) Pork    

52. The most widely used commercial method of freezing poultry is ………….. . 

(1) Still air freezing (2) Plate freezing 

(3) Blast freezing (4) Liquid immersion freezing  

53. The Government agency for control of meat export is ………….. . 

(1) FSSAI (2) APEDA 

(3) EIC  (4) NAFED 

54. Animal suffering from obturator paralysis can be categorized as a stock intended           

for ………….. . 

(1) Emergency slaughter 

(2) Casualty slaughter 

(3) Ritual slaughter 

(4) Humane slaughter   

55. Most abundant amino acid in collagen is ………….. . 

(1) Hydroxyproline (2) Hydroxylysine 

(3) Glycine (4) Aspartic acid   

56. The amount of water available in a food system for the growth of microorganisms is 

generally expressed in terms of ………….. . 

(1) Vapour activity (2) Water activity 

(3) Redox potential (4) Relative humidity   
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57. The water holding capacity of meat is minimum at ………….. . 

(1) Isoelectric pH (2) Ultimate pH 

(3) After slaughter of animal (4) Rigor mortis   

58. Pink colour of cured meat is due to formation of …………… . 

(1) Nitrosyl haemochromogen (2) Nitrosamine  

(3) Nitrosyl haematin (4) Nitrogen gas    

59. The ingredients used to increase the bulk of the meat products is termed as ………….. . 

(1) Fillers (2) Binders 

(3) Extenders (4) Seasonings   

60. The most specific test used to judge the pasteurization efficiency of milk is …………..  

(1) MBRT (2) Coliform 

(3) Resazurin (4) Alkaline Phosphatase  

61. Neats foot oil is prepared from : 

(1) Cattle feet (2) Long bone  

(3) Ossified bone (4) Pig feet    

62. Shrink film packaging is used for ………….. . 

(1) wrapping large and uneven meat cuts  

(2) minced meat 

(3) cured meat  

(4) dehydrated meat   

63. Moisture content of whole egg spray powder is maximum upto ………….. . 

(1) 2%   (2) 3%  

(3) 4%  (4) 6%    



 

RET/2023/970 ( 21 ) P. T. O. 

64. In India, bacterial levels in pasteurized milk should be : 

(1) <30,000 cfu/ ml (2) <50,000 cfu/ ml 

(3) <20,000 cfu/ ml  (4) <5,000 cfu/ ml    

65. 90% inactivation rate of microorganisms at a fixed temperature is considered as : 

(1) F value (2) D value 

(3) Z value (4) T value    

66. Kefir is a self-carbonated beverage containing : 

(1) 1.5% lactic acid (2) 0.1% lactic acid  

(3) 1% lactic acid (4) 0.5% lactic acid    

67. Recommended light  intensity at work rooms in an abattoir is : 

(1) 540 lux (2) 220 lux  

(3) 110 lux (4) 140 lux    

68. Removal of blood vessels of carcasses in Jewish slaughter is called : 

(1) Porging (2) Searching  

(3) Gorging (4) Kosher    

69. For carbonizing of wool ………….. is required. 

(1) Sodium hydroxide  (2) Hydrogen peroxide  

(3) Sulphuric acid (4) Ammonium carbonate   

70. Heparin is extracted from : 

(1) Lung (2) Liver  

(3) Spleen (4) Adrenals  
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71. ………….. is known as sweetbread. 

(1) Thymus (2) Spleen  

(3) Pancreas (4) Kidney    

72. Green rot in egg is caused by : 

(1) Pseudomonas (2) Staphylococcus  

(3) Serratia (4) Cladosporium    

73. Giblet comprises of : 

(1) Heart, Liver, neck (2) Heart, liver, gizzard 

(3) Heart, liver, neck, gizzard (4) Liver, gizzard, neck   

74. FSSAI was established in the year : 

(1) 2006 (2) 2008 

(3) 2009 (4) 2007    

75. Food Safety and standards Authority of India is an autonomous body established under : 

(1) Ministry of Food Processing Industries  

(2) Ministry of Health & Family Welfare 

(3) Ministry of Animal Husbandry, Dairying, and Fisheries 

(4) Ministry of Agriculture & Farmers Welfare    

76. ""Mysost cheese" is made from coagulation of  :" 

(1) Whey (2) Skim milk 

(3) Butter milk (4) Buffalo milk    

77. Casings are obtained from which layer of intestine : 

(1) Telamuscularis (2) Tela Submucosa  

(3) Mucosa (4) Serosa    
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78. Alcohol-Alizarin-test is for : 

(1) Bacterial Count (2) Titratable acidity  

(3) Heat stability and pH (4) Freezing point of milk   

79. Milk is devoid of which Vitamin : 

(1) Vit. A (2) Vit. B1  

(3) Vit.  C (4) Vit B2    

80. Maws is prepared from which part of hog : 

(1) Small Intestine (2) Oesophagus  

(3) Stomach (4) Colon    

81. Main Flavoring compound in Butter is : 

(1) Hypoxanthines (2) Di-sodium  

(3) Diacetyl (4) Lactic acid    

82. The Codex Alimentations Commission(CAC) is an international food standards body 

established jointly by the Food and Agriculture organization (FAO) and the World 

Health Organization (WHO) in the year 

(1) 1955 (2) 1942 

(3) 1981 (4) 1963   

83. Where is the headquarter of The National Dairy Development Board (NDDB) in India : 

(1) New Delhi (2) Chennai 

(3) Anand (4) Surat    

84. ICAR-National Research Centre On Meat is located at : 

(1) Chennai (2) Hyderabad  

(3) Kolkata (4) Lucknow    
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85. Cheese exclusively made up a Buffalo Milk : 

(1) Cheddar (2) Cottage  

(3) Mozzarella (4) Orange    

86. The average BOD values for Poultry meat processing plant ranges : 

(1) 1400-3200 mg/I (2) 600-1300 mg/I 

(3) 1500-2000 mg/I (4) 1000-1200 mg/I    

87. Non meat ingredient, "Stock pot" used in processed meat formulation is : 

(1) Sodium nitrite (2) Sodium chloride  

(3) Alkaline phosphate (4) Sodium nitrate 

88. Self-life of ultra pasteurized milk at refrigeration is : 

(1) 30 days (2) 60 days 

(3) 90 days (4) 120 days  

89. Artery pumping method of curing is suitable for : 

(1) Ham (2) Shoulder  

(3) Bellies (4) Boston butt    

90. The fiber diameter of fine wool : 

(1) 10-15µm (2) 15-20µm 

(3) 20-25µm (4) 25-30µm   

91. Natural or apparent acidity in milk is due to presence of : 

(1) Milk protein (2) Milk fat  

(3) Bacterial growth (4) Milk sugar   
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92. The skin from unborn calf is known as : 

(1) Kip skin  (2) Slunk skin  

(3) Calf skin (4) Heifer skin    

93. Blood meal contains ………….. percent of crude protein (CP). 

(1) 60  (2) 70  

(3) 80  (4) 90  

94. Ruffle fat is fat around : 

(1) Kidney (2) Mesentery  

(3) Thoracic cavity (4) Liver    

95. Hartenstein's gland is found in  : 

(1) Horse (2) Cattle 

(3) Sheep (4) Pig 

96. Formation of carcinogenic compound nitrosamine in cured meat can be prevented by : 

(1) Addition of Vit. E coated salt 

(2) Addition of Sugar 

(3) Quick heating 

(4) Addition of alkaline phosphate  

97. Most heat sensitive egg protein is : 

(1) Ovalbumin (2) Ovomucoid  

(3) Avidin (4) Con-albumen    

98. In meat grading, kind referred to : 

(1) Individual (2) Breed 

(3) Species (4) Sex 
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99. Descriptive sensory evaluation test : 

(1) Threshold test (2) Triangle test  

(3) Difference test (4) Ranking test 

100. Standard developed by the International organization for standardization dealing with 

food safety : 

(1) ISO-14000 (2) ISO-22000  

(3) ISO-9000 (4) ISO-40000    
 



  

 

For Rough Work/jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, 

    



   

 

vH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'k    

¼bl iqfLrdk ds izFke vkoj.k¼bl iqfLrdk ds izFke vkoj.k¼bl iqfLrdk ds izFke vkoj.k¼bl iqfLrdk ds izFke vkoj.k&&&&ì"B ij rFkk mÙkjì"B ij rFkk mÙkjì"B ij rFkk mÙkjì"B ij rFkk mÙkj&&&&i= ds nksuksa ì"Bksa iji= ds nksuksa ì"Bksa iji= ds nksuksa ì"Bksa iji= ds nksuksa ì"Bksa ij    dsoy uhyhdsoy uhyhdsoy uhyhdsoy uhyh@@@@dkyh ckydkyh ckydkyh ckydkyh cky&&&&IokbaV isu ls gh fy[ksa½IokbaV isu ls gh fy[ksa½IokbaV isu ls gh fy[ksa½IokbaV isu ls gh fy[ksa½    

  1. iz'u iqfLrdk feyus ds 30 feuV ds vUnj gh Ñi;k ns[k ysa fd iz'ui= esa lHkh Ik"̀B ekStwn gSa vkSj dksbZ iz'u 
NwVk ugha gSA iqfLrdk nks"k;qä ik;s tkus ij bldh lwpuk rRdky d{k fujh{kd dks nsdj lEiw.kZ iz'ui= dh nwljh 
iqfLrdk izkIr dj ysaA 

  2. mÙkjmÙkjmÙkjmÙkj&&&&i= i= i= i= [OMR] vyvyvyvyxxxx    ls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkjls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkjls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkjls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkj&&&&i= ugha fn;ki= ugha fn;ki= ugha fn;ki= ugha fn;k    
tk;sxkAtk;sxkAtk;sxkAtk;sxkA    

  3. viuk vuqØekad rFkk mÙkj&i= dk Øekad çFke vkoj.k&i`"B ij isu ls fu/kkZfjr LFkku ij fy[ksaA 

  4. mÙkjmÙkjmÙkjmÙkj&&&&i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k 
¼¼¼¼dkyh@uhyh cky IokbaV dkyh@uhyh cky IokbaV dkyh@uhyh cky IokbaV dkyh@uhyh cky IokbaV isu ls Hkj nsa½isu ls Hkj nsa½isu ls Hkj nsa½isu ls Hkj nsa½    dj nsaAdj nsaAdj nsaAdj nsaA    tgk¡tgk¡tgk¡tgk¡&&&&tgk¡ vko';d gks ogk¡ ç'utgk¡ vko';d gks ogk¡ ç'utgk¡ vko';d gks ogk¡ ç'utgk¡ vko';d gks ogk¡ ç'u&&&&iqfLrdk dk ØekadiqfLrdk dk ØekadiqfLrdk dk ØekadiqfLrdk dk Øekad] ls.Vj dksM] ls.Vj dksM] ls.Vj dksM] ls.Vj dksM    
rFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaArFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaArFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaArFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaA 

  5. vks0 vks0 vks0 vks0 ,e0 vkj0,e0 vkj0,e0 vkj0,e0 vkj0    mÙkj&i= ij vuqØekadmÙkj&i= ij vuqØekadmÙkj&i= ij vuqØekadmÙkj&i= ij vuqØekad    la[;kla[;kla[;kla[;k] ] ] ] iz'uiz'uiz'uiz'u&&&&iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ ls.Vj dksM ls.Vj dksM ls.Vj dksM ls.Vj dksM 
rFkkrFkkrFkkrFkk    iz'uiz'uiz'uiz'u&&&&iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 mÙkj&mÙkj&mÙkj&mÙkj&i= la[;k dh izfof"V;ksa esa mifjys[kui= la[;k dh izfof"V;ksa esa mifjys[kui= la[;k dh izfof"V;ksa esa mifjys[kui= la[;k dh izfof"V;ksa esa mifjys[ku    ¼feVkdj ;k ¼feVkdj ;k ¼feVkdj ;k ¼feVkdj ;k 
dkVdj iqu% ys[ku½dkVdj iqu% ys[ku½dkVdj iqu% ys[ku½dkVdj iqu% ys[ku½    dh vuqefr ugha gSAdh vuqefr ugha gSAdh vuqefr ugha gSAdh vuqefr ugha gSA 

  6. mi;qZDr izfof"V;ksami;qZDr izfof"V;ksami;qZDr izfof"V;ksami;qZDr izfof"V;ksa    esa dksbZ Hkh ifjorZu d{kesa dksbZ Hkh ifjorZu d{kesa dksbZ Hkh ifjorZu d{kesa dksbZ Hkh ifjorZu d{k&&&&fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk 
iz;ksx ekuk tk;sxkAiz;ksx ekuk tk;sxkAiz;ksx ekuk tk;sxkAiz;ksx ekuk tk;sxkA 

  7. bl bl bl bl iz'uiz'uiz'uiz'u&&&&iqfLrdkiqfLrdkiqfLrdkiqfLrdk    esa dqyesa dqyesa dqyesa dqy    100    cgqfodYih; cgqfodYih; cgqfodYih; cgqfodYih; ç'u gSaAç'u gSaAç'u gSaAç'u gSaA    iz'u&iqfLrdk esa iz'u&iqfLrdk esa iz'u&iqfLrdk esa iz'u&iqfLrdk esa çR;sd iz'u ds çR;sd iz'u ds çR;sd iz'u ds çR;sd iz'u ds pkj oSdfYid mÙkj fn;s x;spkj oSdfYid mÙkj fn;s x;spkj oSdfYid mÙkj fn;s x;spkj oSdfYid mÙkj fn;s x;s    
gSaA izR;sd iz'u ds oSdfYid mÙkj dsgSaA izR;sd iz'u ds oSdfYid mÙkj dsgSaA izR;sd iz'u ds oSdfYid mÙkj dsgSaA izR;sd iz'u ds oSdfYid mÙkj ds    fy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dksfy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dksfy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dksfy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dks    
mÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isumÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isumÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isumÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isu    lslslsls    Hkjuk ;kHkjuk ;kHkjuk ;kHkjuk ;k    xk<xk<xk<xk<++++k djuk gSAk djuk gSAk djuk gSAk djuk gSA    

  8. çR;sd ç'u ds mÙkj ds fy;s dsoy ,d gh oÙ̀k dks xk<+k ¼Hkj nsa½ djsaA ,d ls vf/kd o`Ùkksa dks xk<+k djus ij 
vFkok ,d o`Ùk dks viw.kZ Hkjus ij og mÙkj xyr ekuk tk;sxkA 

  9. /;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk/;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk/;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk/;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk    
pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA ¼¼¼¼,ssls,ssls,ssls,ssls    ç'uksa ij 'kwU; vad fn;s ç'uksa ij 'kwU; vad fn;s ç'uksa ij 'kwU; vad fn;s ç'uksa ij 'kwU; vad fn;s 
tk;saxsA½tk;saxsA½tk;saxsA½tk;saxsA½ 

10. jQ dk;Z ds fy, iz'u&iqfLrdk ds eq[ki`"B ds vanj okyk i`"B rFkk mÙkj&iqfLrdk ds vafre i`"B dk ç;ksx djsaA 

11. ijh{kk ijh{kk ijh{kk ijh{kk dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= nksuksa dks nksuksa dks nksuksa dks nksuksa dks ijh{kk d{k@gkWy ijh{kk d{k@gkWy ijh{kk d{k@gkWy ijh{kk d{k@gkWy 
NksM+us ls igysNksM+us ls igysNksM+us ls igysNksM+us ls igys    d{kd{kd{kd{k&&&&fujh{kd dks lkSai nsaAfujh{kd dks lkSai nsaAfujh{kd dks lkSai nsaAfujh{kd dks lkSai nsaA 

12. ijh{kk lekIr gksus ls igys ijh{kk Hkou ls ckgj tkus dh vuqefr ugha gksxhA 

13. ;fn dksbZ vH;FkhZ ijh{kk esa vuqfpr lk/kuksa dk ç;ksx djrk gS] rks og fo'ofo|ky; }kjk fu/kkZfjr naM dk@dh 
Hkkxh gksxk@gksxhA 
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